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1  2  1
-

1  1  1
___________

soustraction

cent – vingt - et - un

121 …..

+ 10

…..

+ 200

….. …..

- 20- 10

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

122
122 + 1 = …..
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__________

addition

cent – vingt - deux

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

122 …..
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….. …..

- 100

…..

- 1
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123 + 1 = …..
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123 + 100 = …..
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___________

soustraction
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123 …..
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…..

+ 300

….. …..

- 20- 10

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……
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__________

addition

cent – vingt - quatre

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

124 …..
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….. …..
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pair
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125 + 1 = …..
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125 + 100 = …..
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1   2   5
-
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___________

soustraction

cent – vingt - cinq

125 …..
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…..

+ 100

….. …..
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……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……
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+
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__________

addition

cent – vingt - six

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

126 …..

+ 20 + 500

….. …..

- 6

…..

- 100

126 + 1 = …..

126 – 1  …..

126 + 100 = …..

126 – 100 = …..
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127 + 1 = …..
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127 + 100 = …..
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___________

soustraction
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127 …..
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….. …..

- 20- 10

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……
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1 2 8
+
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__________

addition

cent – vingt - huit

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

128 …..

+ 2 + 30

….. …..

- 5

…..
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128 + 1 = …..

128 – 1  …..

128 + 100 = …..

128 – 100 = …..
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___________

soustraction
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….. …..

- 100- 10

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……
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130 + 1 = …..
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+
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__________
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130 …..

+ 100

…..
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….. …..

- 100- 10

……….…. + ……….…. + ………

( …… x100) + ( …… x10) + ……

addition


